
Problem Solving and Search in Artificial Intelligence
Final Exam, 27.10.2010

Student:
Matrikel Nr:

The Social Golfer Problem is defined below:
32 golfers play golf onee a week, and always in groups of 4. For how many weeks ean they play sueh that
no two players play together more than onee in the same group?
The problem can be generalized as adecision problem: Is it possible to schedule n = gxp golfers in g
groups of p players for w weeks sueh that no two golfers play in the same group more than onee?

':k Find an appropriate solution representation for this problem.
'<l'. Propose an objeetive funetion for the decision problem and for the optimization problem.
/. Propose a loeal seareh teehnique based on tabu seareh to solve this problem (inc1uding an

appropriate move, deeision for aeeeptance of solution, neighborhood exploration, ... ).
-0/ Can you find an appropriate crossover operator for this problem?
5. Formulate this problem as CSP and

a. Illustrate how you eould solve this problem by forward eheeking (only few steps)
b. Draw apart of constraint graph for this problem. Do you think that this graph will have

small (hyper)tree width (explain your answer)
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